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1. 

2. 

The sums of the following two series 

are 

(A) 0 and 3 respectively 

(C) log 3 and 2 respectively 

11 1 
23 4 "*** 

(A) 0 aT 3 

(C) log 3 TT 2 

(A) Rs. 3,200 

1,1 1 1-t 23 4 

(C) Rs. 3,210 

(A) 3,200 F. 

(C) 3,210 $. 

TBC: 23/P/II-A 

-.... and 

1 

2.3 
+ 

1 

1 

(B) log 2 and 0 respectively 

3.4 

2.3 3.4 

(D) log 2 and ½ respectively 

Ramesh, Abdul and Antony started a business with a total investment of 

Rs. 72,000. Ramesh invests Rs. 6,000 more than Abdul and Abdul invests 

Rs. 3,000 less than Antony. If the total profit at the end of the year is 
Rs. 8,640, then Ramesh's share is : 

t.... 

(B) log 2 q1 0 

(D) log 2 71 s 

(B) Rs. 3,240 

(D) Rs. 3,220 

(B) 3,240 7. 

2 

(D) 3,220 *. 



4. 

Shalini has to secure 36 percent marks to pass. She gets 150 marks and fails 

by 30 marks. The maximum marks are : 

(A) 500 

(C) 580 

(A) 500 

(C) 580 

article is : 

(A) Rs. 1,400 

The profit earned after selling an article for Rs. 1,666 is the same as the 

(C) Rs. 1,459 

loss incurred after selling the article for Rs. 1,252. Then the cost price of the 

(A) 1,400 $. 

(B) 540 

(C) 1,459 5. 

(D) 600 

TBC: 23/PII-A 

(B) 540 

(D) 600 

(B) Rs. 1,425 

(D) Rs. 1,469 

(B) 1,425 F. 

(D) 1,469 7. 

P.T.0. 



5. 

6. 

7 

At what rate percent per annum, will a sum of money double in 6 years 

(A) 12% 

(C) 49/3% 

(A) 12% 

(C) 49/3% 

(A) 48 

(C) 60 

(A) 48 

The number of diagonals of a polygon of 12 sides is : 

(C) 60 

(A) North-West 

(C) North-East 

(A) 3R-yfyH 

(B) 16% 

(C) 3-d 

(D) 503% 

TBC:23/P/II-A 

(B) 16% 

(D) 50/3% 

Rohit is facing South. He turns right and walks 20 meter. Then he turns right 
again and walks 10 meter. Then he turns left and walks 10 meter and then 

turning right walks 20 meter. Then he turns right again and walks 60 meter. 

In which direction is he from the starting point ? 

(B) 54 

(D) 66 

(B) 54 

(D) 66 

(B) East 

(D) North 

(B) 

(D) 3TR 

4 



8. 

9. 

If 3 men and 4 boys complete a work in7 days and 2 men and 3 boys do 

the same work in 10 days, then 3 men and 8 boys will complete the same work 

in: 

(A) 3 days 

(C) 5 days 

(A) 3 fT À 

(C) 5 feH À 

Then the number of classes is : 

(A) 17 

(C) 68 

(A) 17 

In a school, 391 boys and 323 girls have been divided into the largest possible 

equal classes so that each class of boys number is same as each class of girls. 

(C) 68 

TBC: 23/P/II-A 

(B) 4 days 

(D) 6 days 

(B) 4 fT À 

(D) 6 fe 

5 

(B) 51 

(D) 39 

(B) 51 

(D) 39 

P.T.0. 



10. A watch ticks 90 times in 95 seconds and another watch ticks 315 times it 

323 seconds. If both the watches are started together, how many times will 

both the watches tick together in first hour ? 

-4A) 100 times 

(C) 102 times 

aR fe ? 

yaa yt 95 tUg 90 aR fz ¥t7 Gt ygt 323 tAUg 315 aR feA 

(A) 100 R 

(C) 102 

(A) 0 

(C) 2 

11. If the polynomials P° +312 -3 and 2x3-5x+P are divided by x -4, then 

, TG P HH: 

(B) 101 times 

same remainder comes. The value of P is: 

-(A) 0 

(D) 103 times 

(C) 2 

TBC: 23/P/II-A 

(B) 101 K 

(D) 103 R 

(B) 1 

(D) 3 

(B) 1 

(D) 3 

6 



The value of (1/sin 10 ) -/3 sec 10° is : 

(A) 2 

(C) 4 

(1/sin 10) -/3 sec 10° 44 : 

(A) 2 

(C) 4 

The height of helicopter is : 

(A) 

(C) 

13. A helicopter is flying above a horizontal plane. The angle of depression of two 

consecutive mile stones at plane in opposite directions are x andy respectively. 

(A) 

(C) 

tan x tan y 

1+tanxtan y 

tanx tan y 
tan x+ tan y 

tan x tan y 

1+ tanztan y 

tan x tan y. 
tan x+ tan y 

TBC: 23/P/II-A 

(B) 3 

(D) 1 

(B) 3 

(D) 1 

(B) 

(D) 

7 

(B) 

(D) 

tan x + tan y 
tan x � tan y 

tan x + tan y 

tan x +3 tan y 

tan x + tan y 

tan x - tan y 

tan x + tan y 

tan x +3tan y 

P.T.0. 



14. The area of a right-angled triangle is x. If its one of the perpendicular se 
is y, then length of altitude from right vertex to the hypotenuse is: 

(A) 

(C) 

(A) 

(C) 

Vy+4x2 

Vy+4x2 

2.xy 

2xy 
y +42 

2xy2 
Jy+4x2 

2xy2 

(A) 12 

in the polygon is :: 

(C) 20 

(A) 12 

(C) 20 

(B) 

TBC: 23/P/II-A 

(D) 

(B) 

(D) 

Vy 

15. If one internal angle of a regular polygon is 135°, then the number of diagonals 

4 Wy +4x2 

2x"y 

(B) 18 

8 

y+ 4x 

(D) 24 

+4z2 

Ny +4x 

(B) 18 

2xy 

2x²y² 

(D) 24 



16. The area of the triangle formed by the straight lines x + y-4 =0, x+2y-10 = 0 

and y =0 is : 

(A) 10 unit 

(C) 18 unit 

(A) 10 3AIE? 

(C) 18 Arg2 

s x+y-4=0, x+2y -10 = 0 GT y =0 # GI t fay 1 T: 

17. If x= /3/2, then the value of 

is : 

(A) V3/4 

(C) 2 

yfz x= v3 /2, �a 

(A) V3/4 

(C) 2 

(B) 14 unit2 

TBC: 23/P/II-A 

(D) 22 unit 

(B) 14 zeh12 

(D) 22 gAIg 

1-x 1+x 
1+1+x 1-1-x 

(B) 1 

(D) 8/3 

1+% 1-x 

1+/1+ 1-/1-* 

(B) 1 

(D) 8/3 

P.T.0. 



18. If 2* =3 =67, then the value of 

(A) -2 

(C) 0 

yf 2* =3' =6z 

(A) -2 

(C) 0 

the same fact ? 

(A) 25% 

(C) 35% 

(A) 25% 

(C) 35% 

19. Ashok speaks truth in 75% and Babulal speaks truth in 80% of the cases. In 
what percentage of the cases, are they likely to contradict each other in stating 

(A) 0 

(C) U2 

1,1,1 

11.1 t+ 

(A) 0 

(B) -1 

(C) TU2 

(D) 1 

TBC: 23/P/II-A 

(B) -1 

(D) 1 

(B) 20% 

(D) 

20. The maximum value of sin x(1+ cos x) exist at x = 

18% 

(B) 20% 

(D) 18% 

(B) TU3 

sin x(1+ cos x) aI 34|4 HH x footH HH ? 

(D) T/6 

is : 

(B) T¯3 

(D) T/6 

10 



21. A committee of 7 members has to be formed from 9 men and 4 women. In 

how many ways can this be done when the committee consists of at most 3 

Women ? 

(A) 1632 

(C) 1634 

(A) 1632 

(C) 1634 

(A) 1/4 

(C) 3/4 

22. A problem of mathematics is giv�n to the three students Ram, Shyam and 

Mohan whose chances of solving it, are 1/2, 13 and 1/4 respectively. Then the 

(A) 14 

(B) 1633 

probability that the problem is solved, is : 

(C) 3/4 

(D) 1635 

TBC: 23/P/II-A 

(B) 1633 

(D) 1635 

(B) /2 

(D) 1 

(B) 1/2 

(D) 1 

11 P.T.0. 



23. If Mool Chand walks around a circular field at the rate of 4 rounds per hóur 

and Ram Chand walks around same circular field at the rate of 6 rounds per 

hour. If they start in opposite direction from the same point, then when will 

they meet for the first time at the starting point ? 

(A) 30 minutes 

(C) 60 minutes 

(A) 30 f2 

(C) 60 f4e À 

(A) 3 hours 

(C) 7/2 hours 

(A) 3 u2 

24. A passenger train starts with a speed of 40 km/h such that its speed increases 

every hour by 10 km/h. In how many hours will it cover 185 km ? 

(C) 7/2 yu 

(B) 45 minutes 

TBC: 23/P/II-A 

(D) 72 minutes 

(B) 45 fye 

(D) 72 f4e À 

(B) 13/4 hours 

(D) 15/4 hours 

(B) 13/4 Eyu{ 

(D) 

12 

15/4 yu| 



25. A sum of money is suficient to pay Nikhil's salary for 10 days and Praveen's 

salary for 30 days. The same money is sufficient to pay the salary of 

both for : 

(A) 13 days 

(C) 15/2 days 

(A) 13 f 

(C) l5/2 f¢ 

4 hours and 12 minutes ? 

(A) 63° 

(C) 64° 

26. The earth revolves in its axis in 24 hours. How much angle does it move in 

(A) 63° 

(C) 64° 

(B) 15 days 

TBC : 23/P/II-A 

(D) 20 days, 

(B) 15 fa 

(D) 20 f 

(B) 60° 

(D) 65° 

(B) 60º 

(D) 65° 

13 P.T.0. 



27. If E is any point on median AD of a A ABC (i.e. D is a mid-point of BC), then 

consider the following two observations : 

(I) Area of A ABC = Area of A ACE 

(I) These two triangles A ABC and A ACE are congruent to0. 

Which one of the following is true ? 

(A) Only (I) 

(C) Both (I) and (II) 

(I) A ABC 1 

A ABC ht nfig1 AD fa E (D, BC H H fa ), Ta fH JAa 

(II) 

(A) 

(C) 

(A) 

(C) 

28. The value of sin, .sin 

(A) 

(C) 

1 

9 

16 

sin.sin 

3 

16 

1 

16 

3 

16 

I) 

(I) 74T (II) 

TBC: 23/P/II-A 

fAI A ABC I A ACE HafTHH ‘I 

(B) Only (II) 

51 = A ACE H1 h 

2T 3T 4T 
.Sin .Sin 

9 

(D) Neither (I) nor (II) 

2T 

(B) de (II) 

(D) 

3 4T 
-.sin .Sin 

9 9 

(B) 

(D) 

(B) 

(D) 

14 

is: 

1 

1 
H 
4 

1 

1 

4 

() 3ir a a (I) 



29. Two circles of radius 5 cm and 3 cmn intersect at two distinct points and their 

centres are 4 cm apart. The length of the common chord is : 

(A) 3 cm 

(C) 5 cm 

(A) 3 f 

(C) 5 A 

of the quadrilateral ABCD is a: 

(A) rhombus 

(B) parallelogram 

30. The quadrilateral formed by joining midpoints of sides AB, BC, CD and DA 

(B) 4 cm 

(D) 6 cm 

(A) H4aqa 

(B) 4 

(C) trapezium but not parallelogram 

(B) 441R 

(D) 6 

(D). quadrilateral but not a trape~ium 

TBC: 23/P/II-A 

aata ABCD T yoi30 AB, BC, CD aT DA q fagt q 

15 P.T.0. 



31. In which of the following triangles, centroid and orthocentre are coincident ? 

(A) Right-angled triangle 

(C) Isosceles triangle 

(A) HHAr fay 

(C) HHfgelz fay 

is true ? 

(A) 

(C) 

32. If 0 is any point inside the triangle ABC and A0, BO and CO meet sides 

BC, CA, AB at D, E and F respectively, then which one of the following relations 

(A) 

BD CE AF 

EA FB 

(C) 

DC 

BD 

DC 

X 

EA FB 

CE 

X 

X 

BD CE AF 

DC EA 

TBC:23/P/II-A 

AF 

X 

BD EA FB 

DC C CE AF 
X 

=1 

=1 

=1 
FB 

(B) Equilateral triangle 

(D) Scalene triangle 

=1 

(B) HYAIz fay 

(D) faqHAIg fy 

(B) 

yf 0, ABC 34 f T AO, B0 TT CO yT BC, CA �1 AB 

(D) 

(B) 

. (D) 

16 

DC CE AF 

BD 

BD OA 
X 

DC 

DC OD FB 

BD 

EA FB 

X 

X 

X 

CE 

OA 

AF 

X =1 
BD EA FB 

DC OD 
X 

AF 

=1 

=1 

AF 
FB 

=1 



n A monkey climbs 30 feet at the beginning of each hour and rests for a while 

when he slips back 20 feet before he again starts climbing in the beginning 
of the next hour. If he begins his ascent at 8 AM, at what time till he first 

touch a flag at 120 feet from the ground ? 

(A) 4 PM 

(C) 6 PM 

(A) 4 PM 

(C) 6 PM 

language means barking? 

(A) sad 

(C) tomn 

34. In a certain language tom kun sad' means dogs are barking, 'kun jo map' means 
dogs and horses and 'mut tom ko' means donkeys are mad. Which word in that 

(A) sad 

(B) 5 PM 

(C) tom 

(D) 7 PM 

TBC:23/P/II-A 

(B) 5 PM 

(D) 7 PM 

fatî frfri yTT tom kun sa�' #1 4dcT4 dogs are barking, kun jo map' 1 
HATd dogs and horses T 'mut tom ko' I HTTA donkeys äre mad. it 491 

(B) kun 

(D) jo 

(B) kn 

(D) jo 

17 PT.O. 



35. The missing term in the number series 

is : 

(A) 70 

(C) 84 

(A) 70 

(C) 84 

to 

(C) vote 

(A) Chief Minister chair 

(C) 

36. If Captain' is related to 'soldier', then in the same way as 'leader is related 

(A) Shoe: Leather 

37. The odd one pair among given is : 

(C) Table : Wood 

7, 11, 18, 29, 47, -, 123, 199 

(A) Shoe : Leather 

(C) Table : Wood 

TBC: 23/P/AI--A 

(B) 76 

7, 11, 18, 29, 47, , 123, 199 

(D) 102 

(B) 76 

(D) 102 

(B) party 

(D) follower 

(B) 

(D) 4 

(B) Iron : Rod 

(D) Shirt : Fabric 

(B) Iron: Rod 

(D) Shirt Fabric 

18 



B. In a row of boys, Tushar is 13th from the left and Ram is 17th from the right. 

If in this row, Tushar is 11th from the right, then the position of Ram from 

the left is : 

(A) 12th 

(C) 7th 

(A) 12th 

(C) 7th 

Then : 

Read the following information carefully and answer Q. No. 39 to 42 given 
below : 

B: fA A, B, C, D, E aA F 
as I E, D t as 

Six friends A, B, C, D, E and F are sitting in closed circle facing the centre. 

E is to the left of D andC is between A and B. F is between E and A. 

39. Who is on the left of B ? 

(A) A 

(C) E 

(A) A 

(C) E 

(B) 10th 

(D) 6th 

TBC: 23/P/II-A 

(B) 10th 

ag 

(D) 6th 

eSR frfa 
C, A qT B 

(B) C 

(D) D 

(B) C 

(D) D 

19 

s át �5 TTA-TH 
a i I F, E A A $ da 

P.T.0. 



40. Who is on the right of C ? 

(A) A 

(C) E 

(A) A 

(C) E 

41. Who is on the third left of D ? 

(A) A 

(C) E 

(A) A 

(C) E 

(A) A, D 

42. Who is sitting between B and C ? 

(C) A, E 

B I C q H àa? 

(A) A, D 

(C) A, E 

(B) B 

TBC: 23/P/II-A 

(D) F 

(B) B 

D) F 

(B) B 

(D) C 

(B) B 

(D) C 

(B) A 

(D) No one 

(B) A 

(D) 

20 



43. If + stands for division, ÷ stands for multiplication, x stands for subtraction 

and - stands for addition, which one of the following is correct ? 

(A) 18 ÷ 6 -7 + 5 x 2 = 20 

(B) 18 + 6 + 7 x 5 - 2 = 18 

(C) 18 x 6 + 7 + 5 - 2 = 16 

(D) 18 ÷ 6 x 7 + 5 - 2 = 22 

(A) 18 ÷ 6 - 7+5 x 2 = 20 

(B) 18 ÷ 6 ÷ 7 x 5 - 2 = 18 

(C) 18 x 6 + 7 ÷5 - 2 = 16 

(D) 18 ÷6 x 7 + 5 - 2 = 22 

44. The related letters to complete the Analogy 

is : 

(A) YVRM 

(C) XWTP 

(A) YVRM 

(C) XWTP 

TBC: 23/PIII-A 

ADHM : ZWSN : CFJO : 

(B) WTPK 

(D) ZXVT 

ADHM : ZWSN : CFJO : 

(B) WTPK 

(D) ZXVT 

21 PT0. 



45. A question is followed by the two statements (I) and (II). 
"Has electronic media improved the classroom teaching ?" 
Statemnents : 

(I) Electronic media is multisensory based. 
(II) TV lessons supplement the classroomn teaching. 
Which one of the four given choices is correct ? 

(A) Only (I) is implicit 
(B) Only (II) is implicit 
(C) Both (I) and (II) are implicit 
(D) Neither (I) nor (II) is implicit 

(A) ha (I) 4affea 

(B) hT () 4aftfa 

(C) (I) a (II) 34affga 

TBC:23/P/LI-A 22 



46. The average of four consecutive odd numbers is 54. Then the product of first 

and third number is : 

(A) 2907 

(C) 2705 

(A) 2907 

(C) 2705 

is related to : 

(A) TREACHERY 

(C) VICTORY 

(A) TREACHERY A 

47.. In a certain way, DARK is related to FEAR, then in the same way, HONESTY 

(C) VICTORY 

(B) 

TBC: 23/P/II-A 

2805 

(D) 2650 

(B) 2805 

(D) 2650 

(B) TRUST 

(D) MONEY 

(B) TRUST 

(D) MONEY 

23 P.T.0. 



48. In a leap year, January 26th is Friday. The day of August 15th in the same 
year is : 

(A) Monday 

(C) Thursday 

(A) HR 

(C) Tear 

(A) 64 

(C) 256 

(A) 64 

49. Total number of squares in a Chessboard is: 

(C) 256 

(A) 14° 

(C) 35° 

(A) 14° 

(B) Wednesday 

(C) 35° 

(D) Sunday 

TBC:23/P/II-A 

(B) qaR 

(D) faar 

50. How many degrees will the minute hand move in 7 minutes ? 

(B) 204 

(D) 1024 

(B) 204 

(D) 1024 

(B) 28° 

(D) 42° 

(B) 28° 

(D) 420 

24 



51. There are three containers of equal capacity. First container is half full, the 

second container is one-third and third is empty. If all the water in the containers 

is divided equally among the containers, what part of the third container will 

be full ? 

(A) 1/3 

(C) 5/18 

(A) 13 

(C) 5/18 

(A) 5 m 

(C) 7 m 

52. The width of a rectangular hall is 3/4 of its length. If the area of the hall 

(A) 5 f. 

(B) 2/9 

is 300 sq.m, then the difference between its length and width is : 

(C) 7 Á. 

(D) /6 

TBC: 23/PIII-A 

(B) 2/9 

(D) /6 

(B) 6 m 

(D) 8 m 

(B) 6 . 

(D) 8 t. 

25 PT.O. 



53. Ajay and Uday are friends. They decidé to meet between 1 PM to 2 PM on 

a given/fixed day. There is a condition that whoever arrives first will not wait 

for the other for more than 15 minutes, The probability that they will meet 

on that day is : 

(A) /4 

(C) 7/16 

(A) 1/4 

(C) 7/16 

(A) Rs. 250 

(C) Rs. 350 

54. After giving two successive discounts of 10% and 20%, the selling price of an 

(B) 1/16 

article /s Rs. 216. Then the market price is: 

(A) 250 . 

(D) 9/16 

(C) 350 $. 

(B) /16 

TBC: 23/P/II-A 

(D) 9/16 

10% TT 20% IAR R G, fht q fasa� y 216 $. Ta 

(B) Rs. 300 

(D) Rs. 400 

(B) 300 . 

(D) 400 $. 

26 



55. If the number of diagonals of an n' sided polygon is 50% higher than its number 

of sides, then the polygon is a : 

(A) quadrilateral 

(C) hexagon 

(A) Tgy 

(C) e 

be equal to : 

(A) 584 

(C) 1623 

56. In a certain way, 137 + 276 = 435, then in the same way, 731 + 672 will 

(A) 584 

(C) 1623 

number 

(A) does not change 

(B) square 

fot fANTT E , 137 + 276 = 435 , a 3t RA 731 + 672 fA À 

(C) decrease by 2% 

(D) octagon 

(C) 2% e 

(B) 

TBC : 23/PILI-A 

(D) 32Y 

(B) 1385 

57. A number is increased by 10% and then decreased by 10%. Then the 

(D) 1531 

(B) 1385 

(D) 1531 

(B) decrease by 1% 

(D) decrease by 2.5% 

(B) 1% e f 

(D) 2.5% e 

27 P.T.0. 



58. How many triangles are there in the figure PQRS ? 

(A) 8 

(C) 12 

(A) 8 

(C) 12 

TBC: 23/PIII-A 

(B) 10 

(D) 16 

(B) 10 

(D) 16 

28 
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9. Zine and copper are in the ratio of 5:3 in 200 gm of an alloy. How much 
grams of copper should be added to make the ratio 3 : 5? 

(A) 133 

(C) 66 

GIIs f 3474T 3 : 5 s ? 

(A) 133 

(C) 66 

3 

3 

(A) Naresh 

(A) 

(C) Ramesh 

(C) 

60. Heavier coins are costlier. Ram's coin is heavier than Mohan's coin and costlier 

than Ramesh's. Naresh's coin is costlier than Yogesh's. Ramesh's coin is costlier 

(B) 72 

than Mohan's. The owner of the costlier coin is : 

(D) 200 

TBC: 23/P/II-A 

(B) 72 

(D) 200 

(B) Ram 

(D) Yogesh 

(B) H 

(D) g 
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(i) 

() P*Q meann ' i the son of Q 

Q meann " in the alater of Q, 

(v) P@ Qmenna Pin the daughter of Q 

() P Q 1 al P, Q n # 
(i) P + Q 

() P* Q ae P, Q 

(w) P@Q 1 7e P, Q 

(A) Brother 

(C) Father 

P, Q 

(A) Mr 

61, How in A rolated to F in the given expreBnion A @ B+ C* D -E+ F? 

(C) fym 

E 

"TBC: 23/PII-A 

a t 

^ At 

tyeatt A @B + C*D -E + F�, A, F A À Hfya ? 

(B) Sister 

(D) Mother 

(B) 6A 

(D) HI 
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82. How is A related to F in the given expression A + B +C x D E @ F? 

(A) Brother 

(C) Husband 

(A) T6 

34a A + B + Cx D E@ F�, A. F faA YAR Hafi ? 

(C) yfa 

(A) Mother 

(C) Grand-mother 

63.. How is F related to A in the given expression A @ Bx C + D x E @F? 

(A) 4IG 

(C) t 

(A) Son 

(B) Father 

(C) Brother 

(D) Sister 

fYo A@B x C + D x E@F �, F, A Hafy ? 

(A) 

(B) frI 

(C) 1g 

(D) 

TBC:23/P/II--A 

(B) Sister 

64. How is A related to F in the given expression A + B x C + D * E@F? 

(D) Aunt 

(B) 

(D) rt/t 

TfMo A + B x C + D * E@F À, A, F Haf? 

(B) Father 

(D) Son-in-law 

(B) fYI 

(D) I4IG (HA-F7-) 
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65. How F is related to A in the given expression A * B C + D x E - F ? 

(A) Brother 

(C) Aunt 

(A) 1 

afiyozfa A * B x C + D x E-FE, A À faH gGR HafA t? 

(C) i 

(A) 4 

(C) 16 

All the surfaces of a solid cube have been coloured red and then cut and 
subdivided into 64 equal sized cubes. Now, answer the following questions 
(66-70) based on this solid cube related information. 

(A) 4 

66. The number of cubes which have their three surface coloured is : 

(C) 16 

(A) 0 

(B) Sister 

(C) 16 

(D) Cousin 

(A) 0 

(C) 16 

(B) A 

TBC: 23/PII-A 

(D) +fNH 

67. How many cubes are there which do not have any of their surface coloured ? 

(B) 8 

(D) 24 

(B) 8 

(D) 24 

(B) 8 

(D) 24 

(B) 8 

(D) 24 
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68. How many cubes are there which have two of their surfaces coloured with red 

on the opposite surface ? 

(A) 0 

(C) 8 

(A) 0 

(C) 8 

(A) 4 

(C) 16 

(A) 4 

69. How many cubes are there with just one surface coloured ? 

(C) 16 

of the surfaces with no colours ? 

(A) 16 

(C) 48 

(A) 16 

(B) 6 

(C) 48 

(D) 12 

TBC: 23/P/II-A 

(B) 6 

(D) 12 

70. How many cubes are there with two adjacent surfaces colored in red and rest 

(B) 8 

(D) 24 

(B) 8 

(D) 24 

(B) 24 

(D) 32 

(B) 24 

(D) 32 
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71. The missing term in the following figure is : 

(A) 72 

(C) 68 

(A) 72 

(C) 68 

TBC: 23/P/II-A 

348 

172 

348 

172 

7 

(B) 84 

(D) 66 

(B) 84 

(D) 66 

34 

18 

40 

18 

40 



72. When the price of oranges are reduced by 20%, it enables a man to buy 20 

more oranges for Rs. 40. The reduced price per orange is : 

(A) 35 paise 

(C) 50 paise 

(A) 35 

(C) 50 

of their areas is : 

(A) 2: 1 

(C) V3:1 

73. A square and an equilateral triangle are drawn on the same base. The ratio 

(A) 2: 1 

(C) 3:1 

(B) 40 paise 

TBC: 23/P/II--A 

(D) 56 paise 

(B) 40 

(D) 56 à 

(B) 1 : 2 

(D) 4: V3 

(B) 1: 2 

(D) 4: N3 
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74. The sum and product of two numbers are 12 -and 35 respectively. The sum 

of their reciprocals will be : 

(A) V35 

(C) 7/32 

(A) V35 

(C) 7/32 

rate of income tax is: 

(A) 6% 

(C) 4% 

75. If the income tax is increased by 19%, the net income is reduced by 1%. The 

(A) 6% 

(C) 4% 

(B) 8/35 

TBC: 23/P/AI-A 

(D) 12/35 

(B) 8/35 

(D) 12/35 

(B) 5% 

(D) 3% 

(B) 5% 

(D) 3% 
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76. In a classroom, there are certain number of benches. If 6 students are made 

to sit on a bench, then to accommodate all of them, one more bench is needed. 

However, if 7 students are made to sit on a bench, then after accommodating 

all of them, space for 5 students is left. Then the total number of students 

in the class is: 

(A) 30 

(C) 72 

(A) 30 

(C)- 72 

TBC: 23/P/II-A 

(B) 42 

(D) 84 

(B) 42 

(D) 84 
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One of the seven subjects like Mathematics, Zoology, Botany, Chemistry, Physics, 
English and Statistics is taught one day each in the week starting from Monday 
and ending on Sunday. Chemistry is taught on Thursday. English is taught 
the day immediately next to the day when Zoology is taught. English is neither 
taught on Tuesday nor on Saturday. Only one lecture is held between Chemistry 
and Botany. Two lectures are scheduled between Mathematics and Zoology. 
Statistics is neither taught on Monday nor Sunday. Based on this information, 
answer the questions 77-80. 

77. Physics lecture is scheduled on : 

(A) Monday 

(C) Wednesday 

(A) FHG 

(C) qyaR 

TBC: 23/P/II-A 

(B) Tuesday 

(D) Thursday 

(B) 4eiaIR 

(D) ThcIR 
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78. Number of subjects taught between Botany and Zoology are : 

(A) 1 

(C) 3 

(¢) 1 

(C) 3 

(A) Botany 

(C) Mathematics 

(A) aqfa faaA 

79. The subject taught on Saturday, is : 

(C) fur 

80. Statistics is taught on : 

(A) Tuesday 

(C) Thursday 

(A) HTaR 

(C) JeaR 

(B) 2 

TBC: 23/PAI-A 

(D) 4 

(B) 2 

(D) 4 

(B) Statistics 

(D) Zoology 

(B) HifÁ 

(D) faAA 

(B) Wednesday 

(D) Friday 

(B) qyAR 0 

(D) 
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Read the following passage carefully and answer questions 81 to 85 : 

One of the findings of the research into successful leadership is the fact that 
respect is always a two-way street. No matter how powerful you are, no matter 
what your experience, skills and accomplishments, you will not be respected 
by others if you consistently treat them disrespectfully. Friendliness i.e. treating 
others politely and showing interest in them - is a way of showing your respect 

for other people, and in return they respect you. If as a manager you are respected, 
your preventive maintenance strategy will be accepted as a sincere attempt 
to resolve problems rather than a mean-spirited attempt to cause problems. 
As important as friendliness is, I want to make sure you are not misled into 

believing that friendliness will replace or correct poor management. I have seen 

effective managers who didn't use this friendliness element but could have been 
more effective if they did use it. I have seen very friendly managers who were 

ineffective because they were not doing effective management things. In other 

words, managers who intervene effectively in a friendly way are always more 

effective than managers who intervene effectively in a non-friendly way. 

Maintaining a friendly relationship is another part of maintaining work 

performance. It also helps you avoid having people try to hurt you because 

they don't like you. 

TBC: 23/P/II-A 40 



81. What is the finding in respect of successful leadership ? 

(A) Respect depends on the skills of the leadership 

(B) Respect comes out of respect 

(C) Respect depends upon achievements 

(D) Respect depends upon purpose 

82. The preventive maintenance strategy used by the respected manager is : 

(A) An attempt to become punctual 

(B) An attempt to cause trouble 

(C) An attempt to resolve problems 

(D) An attempt to become serious 

83. The above passage highlights which of the following features of a successful 

leadership ? 

(A) Reciprocity of a leader 

(B) Dependence of the leader 

(C) Freedom of the leader 

(D) Unconcern of the leader 
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84. According to the above passage in Management, Friendliness means 

(A) Correcting ineffective management 
(B) Replacing po0r management 

(C) Making management ineffective 

(D) Making management effective 

85. The central idea of the passage is : 

(A) Friendliness improves work ethos 

(B) Friendliness is obnoxious 

(C) Friendliness avoids insults 

(D) Friendliness is detrimental to management 

86. Communication is possible only when both the 

the message know the language code. 

(A) Transmitter 

(C) Curator 

(A) auto-information 

87. Communication with one's own self is called 

(C) internal monologue 

(B) Transgender 

TBC: 23/P/II-A 

(D) Listener 

(B) renunciation 

(D) internal dialogue 
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83. A good communicator begins his/her presentation with a : 

(A) repetitive phrase 

(C) non-sequitur 

89. Which of the following factors is responsible relatively for faster or prompt 

(A) Less Physical labour 

communication of culture in cities ? 

(C) Multimedia 

(A) Formal communication 

(B) Informal communication 

(C) Written communication 

90. In communication the term Grapevine is. used for 

(D) Oral communication 

(B) ice-breaker 

91. Nobody can 

(D) complex question 

(A) Forcast 

(C) Forecast 

Fill in the blanks with correct option 

TBC: 23/P/II-A 

(B) Gossiping 

(D) More work load 

the weather accurately. 

(B). Forcaste 

(D) Forecasted 
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92. Do not lean 

(A) for 

(C) by 

is 

(A) outsmart 

93. A person who has suddenly risen from low rank to wealth and importance 

(C) jumpstart 

94. This is the 

(A) tastiest 

(C) more tastiest 

(A) goes 

95. My friend and his father often 

(C) went 

his brother. 

the wall ? 

(A) Patricide 

(C) Regicide 

(B) against 

TBC: 23/P/II-A 

(D) at 

(B) kickstart 

(D) upstart 

pasta I've ever eaten. 

(B) 

96. In today's newspaper, I have read about a 

(D) proved tasty 

most tastiest 

(B) go 

(D) shall go 

to England. 

(B) Homicide 
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97. I am tired because I 

(A) have been practising 

(C) am practising 

98. They 

(A) were waiting 

(C) wait 

(A) relaxing than 

(C) then relaxes 

book 

99. Ajay cooks, washes utensils, does his homework and 

(A) I won in a competition 

my dancing since morning without a break. 

for her since morning. 

(B).I had won in.a competition 

(C) I have won in competition 

(B) am practicing 

TBC: 23PII-A 

(D) have been practicing 

(D) I had to win in a competition 

100. Hoping not to be disturbed, I relaxed in my easy chair to read the 

(B) are waiting 

(D) have been waiting 

(B) than relaxing 

(D) then is relaxing 
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TBC: 23/PAI-A 

SPACE FOR ROUGH WORK 
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SPACE FOR ROUGH WORK 
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TBC : 23/PIII 

1. 

2. 

5 

6 
7 

9 
10. 

11. 

12. 
13. 

(¿) 

(ü) 

(ü) 

AyT : 3141ã 

Y9-4A II 
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